i Hhik — MR — — — N0 gk |0, | N
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TE2R 9| 0| Hah [1afifR s 1] 4.10 | 6.60 | 10 | £ 13.02 |20.99 | 35 | & 17. 10 50 | 1% 14.49 [11.70 49.36 | 8. 4 NG
TE2R 9 1 [ & aibsiE ) 7.42 | 20.17 | 10 | & [1.02 3.97 1 9.45 |35 | f% 17. 78 50 | 1% 14.03 [15.24 [45.93 | 7. 4 NG
TE2R 9| 2 [ &k et fi& i 1] 101. 42 [163.84 | 10 | = [15.38 7.38 | 11.92 | 35 | f% 22. 30 50 | 1% 10.04 [11.73 [45.97 | 6. 4 NG
TE2R 9 3 [ &k e iE 1] 156.78 [233.81 | 10 | & [22.38 12.08 | 18.14 | 35 | &% 22. 44 50 | 1% 10.74 [11.01 [47.64 | 7. 4 NG
TE2R 9| 4 [ &k e iE 1] 125.89 [175.38 | 10 | & [16.54 13.59 | 18.83 | 35 | & 21. 54 50 | 1% 11.60 [10.24 [49.12 | 7. 4 NG
TE2R 915 L&k eI 1] 113. 22 1165.05 | 10 | 3¢ J15.50 ] o ooy [12.23 117.31 | 35 | 22. 54 50 | 1% 11.52 [10.48 [49.77 | 8. 4 NG
12k 9| 6 [ 44k [1afimi s 1] 36.18 [49.38 | 10 | & [3.94 %%‘%‘“ 10.51 | 14.33 | 35 [ &% 25. 47 50 | 1% 11.37 10.00 |50.00 | 8. JURSS PNt
TE2R 9| 7 | Bk 1A Bs I 1) 64.51 | 88.19 | 10 | S |7.82 13.77 | 18.85 | 35 | & 26. 92 50 | 1% 11.45 [10.04 [49.88 | 8. 4 NG
TE2R 9| 8 | Hakn [1aifn s 1] 43.32 | 58.93 [ 10 | A [4.89 13.62 | 18.55 | 35 | & 26. 38 50 | 1% 11.28 [9.99 [49.72 | 8. 4 NG
TE2R 9| 9 | Bk [1aifR bS] 46.45 | 63.27 | 10 | J* |5.33 10.65 | 14.51 | 35 | & 25. 79 50 | 1% 11.31 [9.99 [49.68 | 8. 4 NG
TE2R 9 | 10| 4k |1 eipISIEH 1) 39.00 | 51.73 | 10 | & |4.17 5.58 | 7.52 | 35 | f% 29. 03 50 | 1% 11.53 [ 9.77 [49.81 |8. 4 NG
TE2R 9 | 11| 4k eI IE H 1] 12.08 | 15.41 | 10 | & [0.54 2.20 | 2.79 | 35| & 31.91 50 | 1% 11.73 [9.20 [50.07 | 8. 4 NG
TE2R 9 | 12| B [1afifR s 1] 7.46 ] 9.70 | 10 | £ 1.55 | 2.00 | 35 | 7% 32.93 50 | 1% 11.70 [ 9.43 [50.25 | 8. 4 NG
Trsk 9 | 13 [ 4k [1afim s 1] 15.62 [ 20.89 | 10 | f [1.09 |4 @idyg| 1.50 | 2.00 | 35 | 7 27. 54 50 | 7 11.67 | 9.80 |50.20 | 8. L KA
TE2R 9 | 14|k aibnbsiE 1] 19.78 | 26.83 | 10 | [1.68 | #eprge | 1.78 | 2.42 | 35 | & 24. 12 50 | 1% 11.68 [ 9.96 [50.40 | 9. 4 NG
TE2R 9 | 15| 4k |1 eipRbs G H 1) 5.10 | 7.55 | 10 | % 8.51 |13.30 | 35| & 26. 24 50 | 1% 11.37 [10.85 [49.67 | 8. 4 NG
TE2R 9 | 16| Hakn |1afifn s it 1] 4.84 | 7.27 | 10 | £ 9.08 |13.77 | 35| & 25. 32 50 | 1% 10.97 [11.06 [49.23 | 8. 4 NG
TE2R 9 | 17| Bk 1 aibR st 1] 6.44 | 9.47 | 10 | £ 3.87 | 5.69 | 35 | % 26. 67 50 | 1% 11.62 [10.79 [49.00 | 8. 4 NG
TE2R 9 | 18] Hakn [1afifn st 1] 5.52 | 8.18 | 10 | £ 6.09 | 9.09 |35 ]| & 29. 00 50 | 1% 11.89 [10.88 [49.31 | 8. 4 NG
TE2R 9 | 19| Han [1afifn st 1] 5.32 | 8.39 | 10 | £ 2.77 | 4.33 [ 35| & 24. 29 50 | 1% 11.96 [11.49 [49.22 | 8. 4 NG
TE2R 9 | 20| Hahn [1afifR s 1] 5.94 ] 9.25 | 10 | £ 1.67 | 2.62 | 35 | 7% 22. 50 50 | 1% 12.04 [11.36 [49.21 | 8. 4 NG
TE2R 9 | 21| Hakh [1aifn st 1] 4.88 | 7.74 | 10 | £ 2.62 | 4.24 | 35| & 21. 42 50 | 1% 11.94 [11.50 [48.82 | 8. 4 NG
TE2R 9 | 22| Sk |1 e iR BEE H 1] 5.51 | 8.41 10 | 10.51 | 15.86 | 35 | & 23. 44 50 | 1% 12.05 [11.15 [49.07 | 8. 4 NG
TE2R 9 | 23| Hahn [1afifn s 1] 5.36 | 8.74 | 10 | £ 1.74 | 2.84 |35 | 22. 79 50 | 1% 11.80 [11.73 [48.77 | 8. 4 NG
TE2R 9| 0 [ 4k |oaiibs Gt 1) 5.14 | 7.77 | 10 | % 8.38 |12.57 | 35| & 22.24 50 | 1% 12.87 [11.07 [49.29 | 8. 4 NG
TE2R 9| 1| Hahn |onfifn it 1] 5.61 | 7.94 | 10 | £ 3.54 | 5.01 | 35| % 25. 70 50 | 1% 12.48 [10.40 [49.18 | 8. 4 NG
TE2R 9 2 |l |osim B E H 1] 5.20 | 7.81 10 | 591 | 8.93 |35 | 23. 71 50 | 1% 10.17 [11.00 [49.75 | 8. 4 NG
TE2R 9| 3 | Hahn |oafifn s it 1] 5.14 | 7.20 | 10 | £ 12.38 | 17.32 | 35 | &% 24. 35 50 | 1% 10.97 [10.28 [50.32 | 7. 4 NG
TE2R 9| 4 | B |oalifr s 1] 5.10 | 7.07 | 10 | £ 13.00 | 17.99 | 35 | &% 24. 03 50 | 1% 11.58 [10.18 [50.34 | 7. 4 NG
TE2R 9| 5 | Hahn |oafifn s it 1] 5.20 | 7.50 | 10 | £ 14.57 ] 20.99 | 35 | &% 21. 45 50 | 1% 11.58 [10.59 [49.85 | 7. 4 NG
TE2R 9| 6 | Hahn |onlifn st 1] 5.36 | 8.07 | 10 | £ 12.03 | 18.32 | 35 | & 21. 62 50 | 1% 11.32 [11.03 [49.49 | 7. 4 NG
TE2R 9| 7 | Hahn |onlifR s 1] 5.47 ] 9.13 | 10 | £ 3.32 | 5.57 | 35| % 23. 31 50 | 1% 11.28 [11.98 [48.63 | 7. 4 NG
TE2R 9| 8 | Hahn |onfifn skt 1] 5.84 | 9.28 | 10 | £ 3.68 | 6.40 | 35 | % 19. 85 50 | 1% 11.03 [11.55 [48.70 | 7. 4 NG
TE2R 9| 9 [ 4k |2aiibs G H 1] 5.60 | 8.45 | 10 | £ 7.12 | 11.22 | 35 | f% 18. 41 50 | 1% 11.08 [11.08 [48.85 | 7. 4 NG
TE2R 9 | 10| 4Rk |2a s IEH 1] 5.64 | 8.63 | 10 | £ 7.62 | 11.65 | 35 | f% 19. 83 50 | 1% 11.06 [11.19 49.13 | 7. 4 NG
TE2R 9 | 11| 4k |2aifibsiEH 1) 5.82 | 8.85 | 10 | ffF 7.00 | 10.65 | 35 | % 19. 68 50 | 1% 11.01 [11.13 [49.40 | 8. 4 NG
TE2R 9 | 12| Hahh |oafifn s it 1] 5.71 | 8.75 | 10 | £ 5.53 | 8.47 | 35 | f% 21.23 50 | 1% 10.95 [11.21 [49.16 | 8. 4 NG
TE2R 9 | 13| 4k |2u s IEH 1) 5.29 | 7.88 | 10 | ffF 7.52 | 11.16 | 35 | f% 20. 37 50 | 1% 10.98 [10.92 49.02 | 8. 4 NG
TE2R 9 | 14| Hahh |oalifR s 1] 5.51 | 8.47 | 10 | £ 4.20 | 6.50 | 35| & 20. 28 50 | 1% 10.90 [11.25 [49.21 | 8. 4 NG
TE2R 9 | 15| 4k |2a s iE H 1) 5.52 | 8.53 | 10 | ffF 8.24 |12.78 | 35| & 20. 92 50 | 1% 10.61 [11.29 48.99 | 7. 4 NG
TE2R 9 | 16| Hakn |oafifn s it 1] 6.06 | 9.22 | 10 | £ 1.10 | 1.68 | 35 | 7 23. 02 50 | 1% 10.34 [11.14 [48.86 | 6. 4 NG
TE2R 9 | 17| Hahn |onfifn st 1] 6.32 | 8.95 | 10 | £ 0.51 | 0.73 |35 ]| & 25. 41 50 | 1% 11.03 [10.40 [49.45 | 7. 4 NG
TE2R 9 | 18| 4k |2a b IE H 1) 5.17 | 7.28 | 10 | £ 9.23 |13.08 [ 35| & 23. 89 50 | 1% 11.20 [10.33 |50.75 | 8. 4 NG
TE2R 9 | 19| Hahn |oafifn st 1] 6.30 | 8.69 | 10 | £ 5.95 | 8.23 | 35 | f% 25. 70 50 | 1% 11.38 [10.13 |51.04 | 8. 4 NG
TE2R 9 | 20| 4k |2aipibs G H 1) 5.93 | 8.23 | 10 | ffF 8.09 |11.23 |35 ]| & 24. 00 50 | 1% 11.36 [10.20 |51.30 | 9. 4 NG
TE2R 9 |21 [ 4Rk |2a b iEH 1) 6.12 | 8.84 | 10 | £ 7.17 | 10.20 | 35 | f&% 22.92 50 | A% 11.33 [10.60 |51.21 | 9. 4 NG
TE2R 9 | 22| Hahn |onifn s 1] 5.81 | 8.66 | 10 | £ 10.07 | 15.03 | 35 | & 19. 54 50 | A% 11.42 [10.95 |50.76 | 8. 4 NG
TE2R 9 | 23| 4k |2aifibsiE i 1] 6.12 | 9.02 | 10 | £ 9.58 |14.25 | 35| & 22. 72 50 | % 11.12 [10.82 [50.40 | 8. 4 NG




